AR 16 AT EASEEM



T AN (RME_F)
[ d5teAlga ] (CHel - 249d)
AR & g M A BESY S VI BUTEARE
= o by | AEE =5
H-3-ME- 5 Off Ak o
& A 13,399,195| 12,141,197 | 1,257,998
600 A4 6,486,380 | 6,396,440 89,940
610 ¥+ 6,084,380 | 6,096,440 ~12,060
611 AlBR49 5,638,620 5,650,680 212,060
01 7HBALCAIRR 1,394,400 | 1,394,400 0
o738 14,0009%8,3004x12% = 1,394,400
05 QYUBEHSZAISE 4,147,200 4,147,200 0
oYdre 144,00094x2,4008x 128 = 4,147,200
07 UHSEHELELZAER 0 12,060 ~12,060
09 ARIUZARASCAIRR 97,020 97,020 0
oLy U 28 165,00094x492x 129 = 97,020
612 o-Hie3AeA 445,760 445,760 0
01 AfZAETALY 435,600 435,600 0
OFEIBAM| 666,6672x6002 = 400,000
0448 U ALLA 24T 6,00094x500 = 3,000
OA™7| +YUMH) 32,600
O13mm 47,0009x500 = 23,500
O20m 53,0009x1004 = 5,300
O25m 76,000%x504 = 3,800
03 ALEIHZRBASY 10,160 10,160 0
OAZT| +L () 10,160
O13m 47,00094x1504 = 7,050
©20mm 53,000¥%30H = 1,590
O25m 76,0009x20 = 1,520
670 YL+ 402,000 300,000 102,000
671 O|At4=2 62,000 0 62,000
01 ofiZ0[A¢Y 62,000 0 62,000
03302 o2ty 2,000,000,00094%3.1% = 62,000
672 ElEAHMYSZHC 340,000 300,000 40,000
01 UBBAAHYF 340,000 300,000 40,000
OYeE|A Y= 340,000,000¥x14 = 340,000
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[ d5teAlga ] (Ctel - 29)
o A2Hay & AE2Yoiaey ME  AdREEsY S AdREEsY
. aey | AE=1 =25
T-g-HMg-= A
100 2224 6,912,815| 5,744,757 1,168,058
170 Z2YoiZ24+Y 3,999,750 | 4,727,200 A727,450
171 AdEgasY 1,153,000 1,053,000 100,000
01 AEEHZ+Y 1,153,000 1,053,000 100,000
OAHEEYS 53,000
O13m 60,00094x4504 = 27,000
©20mm 140,00094x1004 = 14,000
O25m 240,0009x504 = 12,000
O Mk YQIRIREF 1,100,000,0008x14} = 1,100,000
173 ElgAlAEE234Y 2,846,750 | 3,674,200 827,450
01 =IREZFSY 980,750 | 1,704,200 ~723,450
OdsHES T FOUZ|AALY 8,750,0009x14] = 8,750
O2MAESZ AY ALY 972,000,000¥x14 = 972,000
03 AlzHEzZ34Y 1,866,000 1,970,000| 104,000
OFTR YR Y AlsH LAY (LS M) 1,866,000,000%x14] = 1,866,000
180 R=at2 2,913,065| 1,017,557 | 1,895,508
181 &MAIYoiZ 2,832,638| 1,017,557 | 1,815,081
01 &MAYZ 2,832,638| 1,017,557| 1,815,081
ozMAYCZ 2,832,638,000¥x14! = 2,832,638
182 0|3 80,427 0 80,427
01 Yolsa 80,427 0 80,427
o Rulul Eos 80,427,0004x14] = 80,427
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[HotrEAtRA ]

@72 AtRiOiAt @EOHER : B (6), A5t E
@A HASR2|(ALY) @RI : 4 HF—I(M%.* OHEAIY  44EAIM Y 22| @ : Y|
(9] : 28)
A4
T EOHEE AUAIRY, HOIA MBI, S HS A | GGy | BZ
g A 13,399,195 | 12,141,197 1,257,998
2RI 980,751
NI 1,866,000
A2 10,552,444
Aol ot 5,608,003 5,147,863 460,140
AL 22 5,608,003
2 (6)/ st 3,432,097 2,873,598 558,499
AP\ 21 A 3,432,097
2| (A) 3,432,097 2,873,598 558,499
2R 20 3,432,097
e FAEE(AFY) 3,432,097 2,873,598 558,499
AR2{| 2 3,432,097
A Ad 2 2 1,689,900 1,631,678 58,222
22| 219 1,689,900
101 QIH| 42,000 37,800 4,200
AL A0 42,000
04 7Z|ZHAIZ2ASES 42,000 37,800 4,200
O YALE FHA| 212 Y 200,0008x7074:x38| = 42,000
AR 2 42,000
201 L2 AEH| 483,200 444,230 38,970
ALH| A 483,200
01 AFFaa|H| 56,160 54,960 1,200
£2AHE7) U AL AT 01 1,000,0008x3Z%103| = 30,000
AR| 2 30,000
O+5E EEETM A 4,0009x500 = 2,000
AR 202 2,000
orxZag/IRd =% 70,00094x691x28| = 840
At A2 840
oY+ A EEE 851Y 200,00094x12% = 2,400
24|22 2,400
OELM Y ASHHE A U2} A2 60,000¥x40H = 2,400
A2 2,400
OF24 ZME L 1 80,000x2Ex43| = 640
AR A& 640
OA4T AFRZ 12|M A2 1,200,0008x53] = 6,000
ARA| 22 6,000
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0= [ A0t @FOFRE : BHE(6), dote-+E
OHUAY : (M) OTRAMY : dek FAL(MY) MR kAl

429 03 Ysegy|
(Erel: AR
A4
T2 20HEE, Z ALY, TRIAR MIRAY = M= Of £ % 1 o &t o 54

OHHAHTE 2tz Azjy| 990,000¥x12¢ = 11,880
24|20 11,880

02 332%H| 211,900 186,620 25,280
0ETE FARS 5,000,000x47} 4 = 20,000
AR2{| 212 20,000
OYLETH 2A4SH oA L R 24 30,000,000 x14] = 30,000
AR2| 21 30,000
odsd F71, EY oMt 45,000,0009x14] = 45,000
ARA| A2 45,000
OEBA+A CAV 224 89 22,000,000x14] = 22,000
AR 202 22,000
@AY 7|t 89 410,00094x42H2x 1274 = 19,680
AR2{| 2 19,680
OFTH HuHd 89 800,0008x 1774 = 13,600
AR2{| 21 13,600
ORI A A|AH 22|22 29 480,000 =27 Ax128 = 11,520
AR| A2 11,520
Sk e pul-L| 1,000,0009%14] = 1,000
AR 2 1,000
CAYHL(Z2H FALL 275,0009x12% = 3,300
AR| 2 A 3,300
OF7|Y O MBS HAAH FAIE4 13,000,0009x14 = 13,000
AR2{| 212 13,000

OLA0LE Zae| 4ot U AQR| RS

3,000,0009x14| = 3,000
AR 202 3,000
CAZFLYA LY RAE+EY 15,000,0008x14] = 15,000
AR2{| 22 15,000
OALSZAIRRE D2|M T2IE FA[22 2,000,0008ix14] = 2,000
24|22 2,000
OA4E QR T2 M SRS 2,500,0009x427| = 10,000
A2 10,000
OALE 2| Mt RS2 |24 2,800,0008x14} = 2,800
AL A 2 2,800

11 AgeFE 64,000 46,720 17,280
OLYHA 222 200,000¥%12% = 2,400
24 AH 2,400
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O I ARO4 @ZEO0FRE 1 B (6),

o442

YUY I YT (AD) OTVAY : H4E RAVZ(MY) GHBAIY : H4EAE 29 2| @F: YHeYH|
(9] : 28)
PO
T2 20FFE, F A, THRIAR HFAN, = M= Of £ % 1 o &t o 54

OL2HAL 42 2,500,00094x12¢ = 30,000
A A2 30,000
OFX 2RI SHUHA 22 400,0009x12% = 4,800
A AH & 4,800
O4RAHZT| ATHA 2= 1,600,0008x971 4 = 14,400
AL A2 14,400
OEIHE/| DARUF = ZAL 2,200,0008x14] = 2,200
AL AH & 2,200
OAIBIIE JjUH 242 100,0008x12¥ = 1,200
AL 21 & 1,200
ooz AS014| o4 300,0008x12% = 3,600
AR 22 3,600
OA|Z EDI 0|8 42 100,0008x12% = 1,200
AR2{| 22 1,200
O7HaAIZE MHIAOIE £48 150,00094x12% = 1,800
AL 2 1,800
OMNEIIE ASEA Hl++= 200,00094x129 = 2,400
AL A 2,400

13 x|z 1,800 4,440 /2,640
o=FAM AUz 80,00094x10E3| = 800
PAEpIT=T] 800
O] o2 1,000,0009x 1714 = 1,000
AR2{| 212 1,000

21 S22z 2AIM 149,340 151,490 282,150
O+ HEIH MER 535,7109x14744x128 = 90,000
AL 21 90,000
od+=gaH| 1,600,0008x18] = 1,600
AR2{| 22 1,600
OAEIIE T EAle 30,00094x12% = 360
AL A4 360
OALTAIER T2|A g 43094x10,500H% 128 = 54,180
A A 54,180
OCFA HollEER 2,000,000 x14] = 2,000
AL A 2 2,000
Odolre 23 FAMH|A AIER 100,000¥%12¢ = 1,200
AL 2H 2 1,200

202 ofd| 2,000 2,000 0
AR{| 2412 2,000
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o= Ao @ROFER : & (6), é,%} E
OYUAIY : HETHR|(AY) OTHIAIY : A HF—I(M%.* OMIEAIY | AT EAIM 2 B2| @2 : oft|
(Erel: AR
A4
T EOHEE AUAIRY, HOIA MBI, S HS MY GGy | B

01 =Lodd] 2,000 2,000 0
O Ald 2EHe 20| 50,0009x421x10%] = 2,000
AR 20 2 2,000

206 A=H| 18,000 18,000 0
AR2{| 21 18,000

02 94EH| 18,000 18,000 0
OAEA| (HSILIESQ2E) 12 6,000,0004x3% = 18,000
ARH| 202 18,000

207 G20 17,000 15,400 1,600
242|201 17,000

01 ¢E9H] 17,000 15,400 1,600
O+ 37|93 24t L ZAEY 17,000,0008x14] = 17,000
AL 2H 17,000

215 =3H| 900,000 900,000 0
AL 2H 2 900,000

00 =3 900,000 900,000 0
O|42H A2 HigAd MR 900,000,0008x 1714 = 900,000
b 22 900,000

307 QIZtolA 227,700 214,248 13,452
ARA{| 212 227,700

13 QIZHHAES A 227,700 214,248 13,452
OASE A o 1,650%%11,500%x12% = 227,700
ALH|AH 2 227,700

e g5+ 900,000 500,000 400,000
AR 202 900,000

214 [ A | 900,000 500,000 400,000
Ap2| 2 2 900,000

05 sHFAH| 900,000 500,000 400,000
OMLER 2= ALY 700,000,00084x14] = 700,000
AL AH 2 700,000
OMLEHR2 (M2 TAELALY 200,000,000 x14] = 200,000
ARA| 22 200,000

HA FAIZE2(AMY) 48,427 0 48,427
| 24 48,427

201 BRI 48,427 0 48,427
AL 2H 48,427

01 ArREeH| 48,427 0 48,427
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[HotrEAtRA ]

O I AO4H @ZEO0FRE 1 B (6), &
OFAUAY : dr 2 (A Y) A Y

ot 42

=k Azl (A)

O M| ZAY : HAF RAI 22 (ALY)

P HOILE HUAY, SO HEAIY, 2 HS auy | GEa| 82

OABHE AN A AL HA8Y 48,427,0009x14] = 48,427
242|212 48,427

HeZAE RALS (M) 755,770 741,920 13,850
AR A 755,770

201 LR AEH| 41,950 35,550 6,400
AF2{| 22 41,950

01 AFR2/H| 1,400 30,000 £28,600
OO0t 557 U SEAHIISH| 200,000x792! = 1,400
AR A2 1,400

02 Z32ZH| 32,000 0 32,000
OLU7IYE FAES AHY 500,000&x6474 = 32,000
AR 2 32,000

13 Yz= 550 550 0
@72t =] o= 550,0008=1E2| = 550
PSP L] 550

22 P-4 8,000 5,000 3,000
OS2 8,000,0009x14] = 8,000
AR2| 202 8,000

206 A=H| 20,000 10,000 10,000
2b3{|212 20,000

01 Yei=zh| 20,000 10,000 10,000
ol AR 2 20,000,0009x14} = 20,000
ALH|AH 2 20,000

214 HFA WAL 193,820 196,370 A2,550
AR 202 193,820

01 SAIE7| Y| 31,000 39,000 /8,000
O=FA Y| LA ALY 62,00094x500 = 31,000
AR2{| 2 31,000

05 SMFAH| 162,820 157,370 5,450
OAHLR] LR HA 1,968,750¥x167)4:x23] = 63,000
A4S 63,000
O A2 = L 4 26,820,000¥x14] = 26,820
AR A& 26,820
OABII 2t ZHH| ALY 23,000,0008x14] = 23,000
ARA| A& 23,000
O-THYI|EEE WA ALY 500,00084x100 = 50,000
24 AH 50,000

231 AIESAH| 500,000 500,000 0
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[HotrEAtRA ]

07  AlQ0lAt @EOHLE 1 31 (6), HBIEE 4
OFHALY  ALEHR|(AIY) OTAIY : HLE RAITRIAY) GMPAIY : ALEAIML RALA(AIY) O : ALBAM|
(9] : 1)
A4
T2 20HEE, Z ALY, TRIAR MIRAY = M= Of £ % 1 o &t o s
2p2| 202 500,000
00 4lEZAMH] 500,000 500,000 0
OBL2AL DIZHHSALSY 1,000,0008x500% = 500,000
b2\ 212 500,000
AFO{ObA 1 A Tt 3,000 0 3,000
PSP L] 3,000
201 UHL2H| 3,000 0 3,000
ARH| 202 3,000
01 AFFelH] 3,000 0 3,000
O IR MAHHEE(HIZH| §) 7Y 500,0009%69! = 3,000
2|21 3,000
S EHFAILH FEAY 35,000 0 35,000
PSP 35,000
207 ASIHYH] 35,000 0 35,000
AL A 35,000
01 g 35,000 0 35,000
oHstr=aa HAIZE 235 U MEFIE ASHA =20 Y
35,000,0009x14| = 35,000
pS PO 35,000
Yuts S (4)/Y B 2,175,906 2,274,265 £98,359
2| A 2,175,906
1224 A | 2,175,906 | 2,274,265 /98,359
22|22 2,175,906
0|22y 2,148,806 | 2,247,065 /98,259
AR 202 2,148,806
0l 2| 2,148806 | 2,247,065 £.98,259
AL AH 2 2,148,806
101 QI#H| 2,148806 | 2,247,065 £.98,259
PP 2,148,806
01 2 1,035,169 997,453 37,716
o8z 736,896
oYL 686,872
- 58 7,216,083 19/x12% = 86,593
AL 2 86,593
- 685 4,486,5009x421x12¢ = 215,352
24 A 215,352
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07 = [ ATYOY @FOMRE : LEESSHUA4),
OFAUAY WHRFFH @AY UHESH OMBAIY : AUHEFH @5 : |

=, E0FFE, F ALY, HRAE MIFAY, = M S

-7a 3,594,7008/x401x12% = 172,546
A A2 172,546

-83 2,363,50084x401x128 = 113,448
A A 113,448

- 95 2,061,10084x401x12% = 98,933
ARR| 2 A 98,933

Ok T 600,288,0008x1/12 = 50,024
AL AH & 50,024

osd 143,745
OA|ZIQ| 224 11,6021 4Bx40A| 2bx1 2702 = 77,966
A 212 77,966

O2Esg 11,640
-H5 20,0009x791x124 = 1,680
AR2{| 22 1,680

-Hi A} 40,0009x8%1x12¥ = 3,840
AL 2 3,840

At 30,0009x601x12% = 2,160
AL A& 2,160

SAHAZ TP bA 110,0008x301x128 = 3,960
AR2{| 21 3,960

OSoFALE 1,275,000x1¢Ix12¥ = 15,300
AR2{| 20 15,300

ol e 3,874,00094x301x12¥x0.041 = 5,719
AL AH & 5,719

OdZsE7Ha 19,200
-25H0|4 130,000&x491x128 = 6,240
AR 22 6,240

-2040| & 2540|gt 110,0009x491x12% = 5,280
AL AH 2 5,280

-15H0|4 20 0| 2 80,0002x30Ix12Y = 2,880
A2 2,880

-10E0| 4k 150J2t 60,0008 1¢Ix12¢ = 720
PP 720

-5140| 4 10408t 50,000%4x591x128 = 3,000
AL 2H & 3,000

-5F0|gt 30,00094%32x12% = 1,080
AL 22 1,080

o077 +Y 10,920
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o= AIRO4 @EO0IRE : YBEZHH(4), Yurdd
A : HHSAZH| OTIRAAIY : UASAY| OHBAIY ALY @F : AAH|
(9] : 28)
A4
T2 20HEE, Z ALY, TRIAR MIRAY = M= Of £ % 1 o &t o s

55 50,0009x191x12% = 600
ARH| 21 600
6,72 30,00094x1091x128 = 3,600
AR A 3,600
-850[3} 20,00094%801x12% = 1,920
A2 1,920
g 7Htgd 30,000&x109/x12% = 3,600
ARH| 202 3,600
Zleeg(2a) 7Ha 20,000@x591x12% = 1,200
AR\ 22 1,200
oeisd 3,000
-53 4 5532 0lst 50,0009x591x12% = 3,000
2|22 3,000
OHUZAH| 140,0009x1791x12¢ = 28,560
AL A 28,560
B2gE 2| 37,320
o532 250,00084x191x12% = 3,000
AR2| 202 3,000
o6Z 185,0009x421x12% = 8,880
AR2{| 21 8,880
o3 180,0009x401x12¢ = 8,640
AR & 8,640
O8~93 175,0009x891x12% = 16,800
AR| 2 16,800
OFEERFIIH 600,279,0008x1/10 = 60,028
AR 202 60,028
GG IHE A 686,872,00084x1/24 = 28,620
Ab| 24 2 28,620

02 7[Et2ES 770,242 921,703 £151,461
oM YAAA e
oEz 4,129,4009x921x12% = 445,976
AF| A2 445,976
odds" 445,976,0008%1/12x90% = 33,449
2| A2 33,449
OAlZte| 224t 10,821 Yx9Yx40A|Zix 12712 = 46,747
ARA| 22 46,747
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07 = [ ATYOY @FOMRE : LEESSHUA4),
OFAUAY WHRFFH @AY UHESH OMBAIY : AUHEFH @5 : |

OoRIZEL+Y 3,6079x921x200Y = 6,493
b)) 212 6,493
ORYZREsY 86,9802x99Ix119Y = 93,156
AR A 93,156
OEsg 16,320
23 20,0009x152/x12¢ = 3,600
AR2| 21 3,600
-Hi 22t 40,0009x821x12% = 3,840
ARA| A2 3,840
-2t 30,00094%801x128 = 2,880
AR 202 2,880
R s 70,0009x491x128+110,0009x221x12¢ = 6,000
AR2{| 2 6,000
OdI+I7HE 13,260
=250 A 130,000x59Ix6% = 3,900
AR A2 3,900
-20'0| 4 25A0]2t 110,0009x391x12% = 3,960
AR2| 202 3,960
15304 2040] 2t 80,00094%301x128 = 2,880
AR2{| 21 2,880
-10H0| A 15A0| ot 60,00094x101x12% = 720
24|21 720
-5 40]4H 104D 2 50,0009x301x12% = 1,800
AR| 2 1,800
OHeIgsy| 50,0009x991x12% = 5,400
AR 202 5,400
OZgEZH| 19,260
-84 185,0009x291x12% = 4,440
P PO L] 4,440
-ZHAL 180,0009x291x12¢ = 4,320
A2 4,320
A7 175,0008x22Ix12% = 4,200
AR A& 4,200
=3 175,0009x391x12% = 6,300
ARA| A& 6,300
O=e|34H| 78,301
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o= AIRO4 @EO0IRE : YBEZHH(4), Yurdd
OTUAIY : HHSAZH| OTIOIAIY : AR A] @MFAIY QAP @S : Y|
(9] : 1)
A4
T2 20HEE, Z ALY, TRIAR MIRAY = M= Of £ % 1 o &t o 54

-G Al 140,0009x92Ix12¥ = 15,120
24|20 15,120
-HHF | 445,976,00094x1/10 = 44,598
b2\ 212 44,598
-CI7HE | 445,976,00094%15/30x1/12 = 18,583
AFz{| 22 18,583
O=RIAIREF & 11,880
@INE= k-1 110,00094x901x12% = 11,880
AR A2 11,880

03 JFA(R7|AI2AES 343,395 327,909 15,486
OYUZ 3 343,395
oZlga 2,332,9009ix601x128 = 167,969
AL AH 2 167,969
Ok et 1,166,4502x621x2 2 = 13,998
AR2{| 21 13,998
OA|ZHR|4=EF 14.3302Ux6H<A0A| ZIx 127 2x 1509 = 61,945
AR| A2 61,945
OEERIH| 1,399,740Hx621x2 8 = 16,797
AR 2 16,797
OFHGAH| 140,0009x621x12% = 10,080
AR| 2 A 10,080
OAZ2+Y 140,0002x691x12% = 10,080
AR2{| 212 10,080
Ok = R 110,0009x621x12% = 7,920
AR 202 7,920
ORlH+E 90,0008x621x12¥ = 6,480
AR 22 6,480
O2&EsE 2,040
-Hoac 20,000§x501x12¢ = 1,200
24|22 1,200
-Hi A 40,0009%101x12%9 = 480
A2 480
-Ape 30,0008x101x12% = 360
AR A& 360
OSZtEHY| 114,71194x621x15Y = 10,324
ARA| 22 10,324
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o= AIRO4 @EO0IRE : YBEZHH(4), Yurdd
OHUALY : HASAZH| OTIAAIY : UASYH| GMSAIY : Q1S HH| @F: Q|
(9] : 28)
PO
T2 20FFE, F A, THRIAR HFAN, = M= Of £ % 1 o &t o Y

Oo=2ds 307,633,0008%0.045 = 13,844
AL S 13,844
(@inE=1"k= 307,633,0008x0.018 = 5,538
A A 5,538
OHAEE 307,633,000%%0.03,645 = 11,214
AL A 11,214
OR7|8%EH 11,214,00084x0.1,314 = 1,474
AL AH & 1,474
OAREFREZ 307,633,00084x0.01,200 = 3,692
A 3,692

7|12 A 27,100 27,200 2100
PIE PO 27,100

7|=22H| 27,100 27,200 100
PAEIpIL-T] 27,100

203 YFFUH| 9,100 9,200 A100
AL 2 9,100

01 7|HSELRF2Y| 3,000 0 3,000
©7| A2y 3,000,0009% 14| = 3,000
A A 3,000

02 AYUIMYD =2 1,240 4,280 /3,040
OHATHIYTF2IY 40,0008x31% = 1,240
AL A 1,240

04 FMZIYFZ2IY| 4,860 4,920 £60
OB MY =2y 405,000x12¢ = 4,860
A2 4,860

204 AS2HAY| 18,000 18,000 0
PSP 18,000

01 AR EY| 1,800 1,800 0
O UG AF LU A 150,0008x12Ix128 = 1,800
23|21 1,800

03 EHYTAY| 16,200 16,200 0
OLfRIEshY| 50,0008x2791x12% = 16,200
A2 16,200
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o= A 20t @FEO0FREE : BHEH(6), Mot E
@AY | s pe|(AHE) @THRIANY 1 Y iﬂal(zrg QM FAY : HrAlE R2E4(AHE) @5 1 AlEH| UK CHH|
(TH2l - 219d)
PO
T HOIE R FUAIR THOIAI HIZAIY 2 S A | GGy | BZ
AR Of| 4 7,791,192 6,993,334 797,858
ZOEZES 980,751
ANEERZ 1,866,000
A 4,944,441
2Ha (6)/ st 7,791,192 6,993,334 797,858
2NEZRI 980,751
NEEZRZ 1,866,000
A 4,944,441
e (AHE) 7,791,192 6,993,334 797,858
ZNEZES 980,751
ANEERZ 1,866,000
AbA| 2 4,944,441
e FA|E2|(AR2) 2,099,192 1,863,334 235,858
== 8,751
24|21 2,090,441
ST A RAES(ARR) 853,024 641,000 212,024
AL A 853,024
401 A|EB[ZECHY| 790,000 537,000 253,000
2| 21 790,000
01 Al&H| 790,000 537,000 253,000
OALE S48 H DAY 400,000,000x14! = 400,000
AL AH 400,000
Oa4E DI S ZAY 300,000,0008x14 = 300,000
APH| AR S 300,000
Ot 7HRtE A OJAIAE AlE Sitlst
40,000,00094x14| = 40,000
AR 22 40,000
OAZSCHQ-22HET| Q2|24 50,000,0008x14] = 50,000
AR A2 50,000
405 ApARZISH]| 63,024 104,000 140,976
A2 63,024
01 AHHUESZEZSH| 63,024 104,000 240,976
OFEAEY| FY(LIEE) 104,0008%3757H = 39,000
AR A& 39,000
OFZA 27| FU(LHE) 104,000¥x2317 = 24,024
AL 2H 2 24,024
HrUES S F0URAAY 29,168 37,334 A8,166
EonlE = 8,751
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o= AHE04 @ROFER : & (6), ‘}36} E
O ALY : AL EH2|(AE) @TSIAIY : A iaal(z@) OMIEAIY | AU ST Z0IZ|AUALY @F: AlAH|ZECfY|
(9] : 28)
PO
T HOIE R FUAIR THOIAI HIZAIY 2 S Ay | GGy | B

AL 2 20,417

401 A|ZH[ZRCHH]| 18,959 11,200 7,759
ZNEZE 5,688
A A 13,271

01 AlgH| 18,959 11,200 7,759
OF DI HALY HE|ZA} 18,958,550x14| = 18,959
ZNEZRI 5,688
AL AH & 13,271

405 AHpkzSH| 10,209 26,134 15,925
ZNEZEF 3,063
A 21 7,146

01 AHILEFZFSHY 10,209 26,134 15,925
OFR2AUAIY ZEEE 19 10,208,4509x14] = 10,209
=Nl = 3,063
AR2{| 20 7,146

2|24k SHOHEALY 0 940,000 ~940,000

403 A2 SAH20[H 0 940,000 £940,000

02 J7|HSOl|CHE2|ErAI Y 0 940,000 /940,000

A A AL DAY 220,000 220,000 0
ARA{| 212 220,000

401 AlEHIZ2OHH| 220,000 220,000 0
AL A1 220,000

01 Al&H| 220,000 220,000 0
OFHHUAHE AAE H2|AKY 220,000,000¥x14 = 220,000
APH| AR 220,000

A wAlHE 25,000 25,000 0
At A 25,000

401 AlEHIZEOH| 25,000 25,000 0
AR A2 25,000

01 AlgH| 25,000 25,000 0
OHA FA| e 25,000,000&x14] = 25,000
A2 25,000

oot HEF A2 800,000 0 800,000
AL A 2 800,000

401 Al2B[L ROy 800,000 0 800,000
AL A 800,000

01 AlAH]| 800,000 0 800,000
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o7E I AHE04 @FE0FRE 1 B (6),

NoirE 42
OTUNY I HAETA(AE) OTINY : HAE

FAZ|(A2) OMRAY @ deat

L HEFAR

@5 A|EH|ZRLH

P HOILE HUAY, SO HEAIY, 2 HS auy | GEa| 82

OYY M4 H2o2 22| 29 ©800,000,000x14] = 800,000
AFA| 2424 800,000

e FA|HelA L8 R4 130,000 0 130,000
AF| 2494 130,000

401 AlEHZEOH| 130,000 0 130,000
AL AH 2 130,000

01 Al4H| 130,000 0 130,000
OASE QA H2IAAH SRE2 29 @130,000,000x14] = 130,000
AF| 2494 130,000

M4E 2|SHA|ME ZERA 42,000 0 42,000
2|21 42,000

401 AlEHIZLECOHH| 42,000 0 42,000
AFH| 22 42,000

01 AldH| 42,000 0 42,000
AL 2|SHAHE BERALEY ©42,000,000x14} = 42,000
242|202 42,000

Huli4=2] 22| (AR2) 3,329,000 3,264,000 65,000
e = 972,000
AR 2 2,357,000

M2 Al JHZALY 2,244,000 1,714,000 530,000
2nEzZ 972,000
2|2 1,272,000

401 AlEHIZECHY| 2,244,000 1,714,000 530,000
L = 972,000
AR 202 1,272,000

01 Al4H| 2,044,000 1,714,000 330,000
C2MH+Z MY IHEFAY 2,044,000,0009x14 = 2,044,000
ZnEzZ 872,000
PP 1,172,000

02 ZelH| 200,000 0 200,000
O2MELZ Al PH2EALY 22l 200,000,0008x14] = 200,000
2RI 100,000
A4 A 100,000

Hbll=2] A[E2HH (A=) 1,085,000 1,550,000 /465,000
AHH| A& 1,085,000

401 AlEH[YSCiH] 1,085,000 1,550,000 £465,000
A2 1,085,000

01 Al4H]| 1,085,000 1,550,000 465,000
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OTE 1 ZHE0A @EOHRE 1 B2 (6), HEtEE A
@A ALY : AT (AHE)

OTHRAY : FHliA| H2(AH2) @MFAY - i ALVH(A2) @5 : Al2H|ZRLHH|

P HOILE HUAY, SO HEAIY, 2 HS auy | GEa| 82
OAMLE A =S 2| DAY ALY 300,000,000&x14] = 300,000
Ap2| 21 300,000
©7teHl42] HU|ALY 300,000,0008x14| = 300,000
AR A 300,000
OASZA|A 7|HA|HE AHALY 50,000,00094x14] = 50,000
PSP L] 50,000
AT A LO|RYAA|AE M2 ALY 240,000,000x14] = 240,000
2p2{| 202 240,000
OIS T2 DRTFZ|A|A 70,000,000¥x14 = 70,000
AR\ 22 70,000
O+ FAE 7[SRICHE I E4AHY

125,000,000&x14] = 125,000
2|24 125,000

SO| 2B AT Y 2,363,000 1,866,000 497,000
MNERZRZ 1,866,000
AL A 497,000

42| 0FR|Q) AlAQ) JHut 2,363,000 1,866,000 497,000
NI ES= 1,866,000
AR 2 497,000

401 AlEHZLEOH| 2,363,000 1,866,000 497,000
ANERZRZ 1,866,000
2bzi|212 497,000

01 Al&H| 2,363,000 1,866,000 497,000
Os0|2 deEds 1Y 2,363,000,000x14! = 2,363,000
Ne223 1,866,000
AR 202 497,000
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